ANALISI MATEMATICA B
LEZIONE 43 - 31.1.2024 Teue. s bpoe

,( I,. /Cpg(“&a) wl’te-[;},’:
Tegd o Buigaale —r cx(x)dyx = d
o hJ, \y & fyg -
¥zwﬂq&fah 1
cecly - inghé “éif”:’
LA e e

( cogécqu’ﬁo(i) [em _-?_o(l«) L wdrs o ,..L“Wh]

/
Coucl & ceiekl (FGaN )= £ e
¢ sofbialorw (uverss : ge f_? T

[0he)geade 2 [pe)ay




$os "\"ZVXSOUP d‘- (W/J"&

fﬁ(\dx v[f f(h(m NA A;J o
X = Lfa)

ey
%ﬂﬁ ; '«?&)y

k., Lo 20 O(A;upﬁ(wwow U (oo

© b
f(x\ dx = f’g((‘f(v\\ 5//7) d;l
g&\ [ o
i(XH:HGf) \I
dx = Sf(y] 6(3
R@o 5 \rcaSP iz d?;'zdﬁe dr—%dg,

<deq j@c\?&x :febc de =4 2

o5 (2x) = Coslan) o coctx —@in'x = sy —(i~cal'x)

= ety - =A-25x
CDS?'): I @((23& ( 9:0:(): — |47 c»s*sz\)

2 z

‘(Cog?')f G‘Z = -(("21 —|—1 Co( Zx) ‘fl *‘J“O'-"S‘ 2 AY.’_
z 6“21

=z '(‘1 7'—“('2%) {1,2\*

. a A’)C: —\-d‘a
Z



s (D e <[l IC sutde =

[ g /’; ')::Cbs't
x's | de = —qutdt qwlt = |sut]
-\ £x= 1 O gwtzeo
[ sati s e
+ {f—(-s?\u(i’ﬁ :%g«[furt—-ﬂff
= 2 [h-cos?t + ot —:!Z t
:% PR -—’é(UlCr—oSr = F&
L JI y
Verpa:  Fieg - 1.}.#’ x  xnd {7+
2 A-X T 4
€ 4
2 (=2
=1 ~x% 4 1 P 2 =102« i = ex?
9 2 d—x E 2

VERIT(A paeu : | pA !
. Z[ -3 dxd = g @\
L
f lfr?d'x *[ /{/jr._ i Cw\cc,offx]
(
= ~V@—-("w§€‘)

w,

f

N A



AUTERN ATV A
R(EACC(AMD  TUtto (L Cons® con/

CYUte6 04 E DEENTD

,\ (@)
f :,(_x'( dx :’jr,r \(/l—c.oszf cut db =

x="1 s
{A’)C: '-W'é At

£ = arcos X

ESQ'L&D AW - Cof X dx — X KX — 4« Bux dx
- LT x \

dondpe wﬂlpw = X S L oS X

T T 8
é&l:ﬁs ( x Co§x AX = [%a ‘_f'(‘ flux




x x . L
Iex-ccsx dx = e Swx ~—-f€ Fux dx =

roq L)

Ab:w ;It o deNo W
= ZYWI —_— (2, (— Co%')"‘—)__. QI (—-—CDSL) 0'9
xX
= 2 Sw .o,e,YC:S‘:c
—
P 8 ~ X
2f¢ csx dX = e Sw x4 eled e
X

e Sx de = ilex(g%wx +cqr1)

A
lutyole A% fioel oloverkon

f,fo dx = f{-fm"c dx = % K ﬁfx':%dr

A
(‘*&’l«o = Yl x X

/an(fffx dx :f;.aniq x A= :r&aC'g?c-f /,;;id”
1 il M u mt i F?C

2
:y&\diy‘)t r-—ét /i; d‘x:kaﬂc%x"z_"fd(u‘x -




- ¥ a"dzf‘x— —2\— Aon (th)

@L cafle f GnC G X AX f@/lc wf 3 dx










